If curve (A) 1s

(B) ACOS(CDOI)
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A mass is hanging from a spring. The position of
the mass is measured by a sonic ranger sitting 25 ¢ oo
cm under the mass’s equilibrium position. At

some time, the mass is started oscillating.

At a later time,
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A mass is hanging from a spring. The position of

the mass is measured by a sonic ranger sitting 25 2%
cm under the mass’s equilibrium position. At

some time, the mass is started oscillating.
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7 | None of these

At a later time,
the sonic ranger

begins to take data.

Which graph could
represent the

net force

on the mass?
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A mass is hanging from a spring. The position of
the mass is measured by a sonic ranger sitting 25 3

cm under the mass’s equilibrium position. At

some time, the mass is started oscillating.
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At a later time,
the sonic ranger

begins to take data.

Which graph could
represent the
potential energy
of the spring?
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When we pull the mass down
from 1ts equilibrium, oo
what happens to the energies?

The gravitational PE
. Increases

decreases
remains the same

o0 ®

. you can’ t tell from
the information
given.



When we pull the mass down
from 1ts equilibrium, voo
what happens to the energies?

The spring PE
A. Increases
B. decreases
C. remains the same

D. you can't tell from
the information
given.



When we push the mass up e0®
from 1ts equilibrium, oo
what happens to the energies?

The gravitational PE
. Increases

decreases
remains the same

o0 ®

. you can’ t tell from
the information
given.



When we push the mass up e0®
from 1ts equilibrium, 0o
what happens to the energies?

The spring PE

. 1ncreases

decreases
remains the same

o0 ®

. you can’ t tell from
the information
given.



